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M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
201 ¢er24| 33,000 33,000 0
01 At 22l 33,000 33,000 0
OBt & ==ZHl 33,000

202 044l 4,000 4,000 0

01 = LH o4 1l 4,000 4,000 0
OX LAY & AR =& 0l 4,000

301 LeHBAF 40 1,000 A 960

09 SAEHIX RS 40 1,000 A 960
OS2 S AZH| 40

Ead=Ea Rl N =l 18,484,800 30,087,850 A 11,603,050
s 13,629,800
EN 1,580,000
< 3,275,000

NS =a 16,904,800 19,436,276 A2,531,476
s 13,629,800
< 3,275,000

N2 b= ONE| 4,384,000 9,322,000 24,938,000
s 4,384,000

403 Mt SHHSA=0l& 4,384,000 9,322,000 24,938,000
s 4,384,000

01 HXSHMA=LE L 4,384,000 9,322,000 A 4,938,000
Y=Y XGHLAY 4,384,000
s 4,384,000

AN+ ASXIAY 4,756,000 3,834,000 922,000
as 4,756,000

403 UtXISHH S0l & 4,756,000 3,834,000 922,000
s 4,756,000

01 XM A=2E X 4,756,000 3,834,000 922,000
OXNg=2 ASXAAY 4,756,000
s 4,756,000

ENLEX R XA 2,000,000 0 2,000,000
s 2,000,000

403 XSS X201 & 2,000,000 0 2,000,000
s 2,000,000

01 X SHHN2E= 2,000,000 0 2,000,000
OFXRHEEX T X3AAS 2,000,000
s 2,000,000

HEXY JIBAIE XA (HSALS) 2,794,000 2,870,000 AT76,000

403 MHXHHSA=0l& 2,794,000 2,870,000 AT76,000

01 X HHMA=2LE X 2,794,000 2,870,000 AT76,000
ONEXA JIBAIE XA 2,794,000




A= REAA
M A0 XS
S EPEB CERED
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
RS FOUX AL 2,059,800 3,155,000 A 1,095,200
hag 2,059,800
403 XX S S K201 A 2,059,800 3,155,000 A 1,095,200
rag 2,059,800
01 HXHNMAHEE = 2,059,800 3,155,000 A 1,095,200
OMNL M2 FoXJAAS 2,059,800
rag 2,059,800
N IS 22l 3,000 5,000 A 2,000
fag 3,000
202 04d| 3,000 5,000 A 2,000
= 3,000
01 2L Y| 3,000 5,000 A 2,000
OMg e 22 ol 3,000
hag 3,000
RIS 228l (Al2) 27,000 22,000 5,000
rag 27,000
308 AKX SHHSOIA 27,000 22,000 5,000
rag 27,000
01 AIXHMBAEXZ 27,000 22,000 5,000
OME e 922yl 27,000
hag 27,000
THXE=Z & 22l 5,000 8,000 A 3,000
401 Al HIL 201 5,000 8,000 A 3,000
01 Al& H| 5,000 8,000 A 3,000
OZHZTEHE S X B 5,000
THOIE SHEHNEALE 326,000 220,276 105,724
403 XX S M S K201 A 326,000 220,276 105,724
01 HXSHNMAHEBE = 326,000 220,276 105,724
OZHDIES S#FMEAY 326,000
HWEH XIAE 400,000 0 400,000
g 400,000
403 XX S M S X201 A 400,000 0 400,000
fag 400,000
01 MXHHE2BE =X 400,000 0 400,000
OUHSHA(HESE MY - BHE12t) XI& A 400,000
hag 400,000
AS~AN DEECF HH XY 150,000 0 150,000
207 A SO 4| 150,000 0 150,000
01 A2 ES Y| 150,000 0 150,000
OsS~NIHDEEZ HY XY J2724
ARx=Ed 150,000




AR BEALR SN RS
M. 2O X9
Sl SADHZ 22 (er:@e)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
S AR 22| 1,580,000 10,651,574 N9,071,574
N 1,580,000
AT SSAIE oM AMS 360,000 175,000 185,000
N 360,000
403 X SHMS K201 A 360,000 175,000 185,000
A 360,000
01 XX SHMA2EX 360,000 175,000 185,000
OALA2 SSAIE oA 22 ALY 360,000
S 360,000
A2 DAEAE HUH ALY 1,220,000 0 1,220,000
S 1,220,000
403 ItXIHAMS K201 A 1,220,000 0 1,220,000
A 1,220,000
01 XX SHMA2E X 1,220,000 0 1,220,000
O2r2 ND/ASEAE HBIAIY 1,220,000
A 1,220,000
HHSHAH (L) 125,887 246,051 AN 120,164
ol 2AY| 32,839 153,003 A 120,164
ol 2AH| 32,839 153,003 A 120, 164
101 @121l 32,839 153,003 A 120,164
03 2L (RIHS) 222 S 32,839 153,003 AN 120,164
OH=L23 B 32,839
-J=3 1,975,920@ x 122 x1H 23,712
-HH o2, 522
11,1653 *150%* 15A1 2t x 128 x 1Y 3,015
- XS 11, 165& *BA| 2t *x 152 x1H 1,340
-IEY 40,000& x12& 480
===l sl 1,975,920 *60%*23] 2,372
- = &l 140,000& x12& x1H 1,680
-2 20,000& x12& x1H 240
PIEET 93,048 93,048 0
JlE23Hl 93,048 93,048 0
201 et A bl 29,288 26,288 3,000
01 AFR2 22l Yl 29,288 26,288 3,000
OJI2+gtl 13,888
O3 &l 15,400
202 O B 37,360 40,360 A 3,000
01 2L Y| 37,360 40,360 A 3,000
OJla0 ] 37,360
203 ¥R =&XH| 26,400 26,400 0
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= o
A & 0l & AF 2 E A A
20228 = =04t LBHSIH 2EAL S ~ dEHAE =
Az ZEALER M4 20
M Helotld otME E2 2=
& XeEe2 2el (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
S22 87,843,927 123,062,656 A 35,218,729
s 19,030,000
N 110,000
< 68,703,927
Heldtn etEE S 2d RH 71,126,033 107,224,109 A 36,098,076
s 19,030,000
EN 110,000
< 51,986,033
gz 2e 144,426 164,714 A 20,288
ANLE NS T A 89,892 95,000 25,108
401 AIEHI L 20 89,892 95,000 25,108
01 A& HI 89,892 95,000 25,108
OXNYgE wsg ZA 89,892
g9 2el 54,534 69,714 A 15,180
308 MtXIEHSOIH 54,534 69,714 A 15,180
01 HXNHHBHELS 54,534 69,714 A 15,180
OXNge 3&729 2e| 54,534
N WSt SN E ALY 9,747,000 10,626, 050 A 879,050
s 6,230,000
N 110,000
=) 3,407,000
WEALD 2R HAAS(HEAY) 1,058,000 1,263,000 A 205,000
403 UHXSHHSA=0l& 1,058,000 1,263,000 205,000
01 HXSHHMA2E X 1,058,000 1,263,000 A 205,000
OusAt 2= He ALY 1,058,000
Helol 25729 ALY 970,000 284,500 685,500
as 970,000
403 XIS E =0l & 970,000 284,500 685,500
s 970,000
01 X SHHA=2E = 970,000 284,500 685,500
O0eol Esa49 Ha A 970,000
s 970,000
PONEHEHH & EXNAY 5,260,000 4,225,000 1,035,000
s 5,260,000
403 A X EHHS =0l A 5,260,000 4,225,000 1,035,000
s 5,260,000
01 AXSHHMA2E = 5,260,000 4,225,000 1,035,000
ORUusS=H=ETH S AX ALY 5,260,000
s 5,260,000
oM G st R HA (MEAY) 1,000,000 1,900,000 900,000
403 MHXSHHSA=0l& 1,000,000 1,900,000 900,000




432 PEALR A==
M Helotn otdE E2% A5
CHel: XD EOHH B N & ALY (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 1,000,000 1,900,000 900,000
Oetdst SElEd e AY 1,000,000
MEH O|HEZ FHAMS 110,000 60,000 50,000
EN 110,000
403 MtXISHHE X201 E 110,000 60,000 50,000
EN 110,000
01 XM A=2EE 110,000 60,000 50,000
OMEA 0|HEZ ZHAMY 110,000
EN 110,000
SIEUXE AXAY (HEAY) 700,000 1,680,000 980,000
403 A X EHHS K20l A 700,000 1,680,000 980,000
01 X SHHX2E= 700,000 1,680,000 980,000
Osldui=z XA 700,000
oS HEAIS (HEAY) 649,000 1,213,550 A 564,550
403 MHXSHHSA=0l& 649,000 1,213,550 A 564,550
01 HXSHMA2E X 649,000 1,213,550 A 564,550
OLoEs3d HHAAYG(HMEAY) 649,000
EEZ2PH 900,000 970,000 A70,000
as 900,000
FAEEZ 2ZMHEAS 900,000 970,000 AT70,000
s 900,000
403 MtXISHHS =0l & 900,000 970,000 A70,000
s 900,000
01 XM A2E X 900,000 970,000 A70,000
OfRIEEZ PRMEAY 900,000
s 900,000
SN ENE E2 T TALSY 22,001,000 7,960,000 14,041,000
s 11,900,000
< 10,101,000
SE-g2t 2XNE A4 13,572,000 5,459,000 8,113,000
s 8,800,000
< 4,772,000
401 A& HIZ 2018 13,572,000 5,459,000 8,113,000
s 8,800,000
< 4,772,000
01 A& HI 13,066,000 5,159,000 7,907,000
OdE-22 FINE A4 13,066,000
s 8,446,000
S 4,620,000
02 Zteltl 500,000 300,000 200,000
OyE-&2t IXNE A4 500,000
s 350,000




432 PEALR A==
M Heloln OFE TRY 7S
S VDKL S EIIZAY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 150,000
03 Al 2 THHI 6,000 0 6,000
O&aE-g2 =& 24 6,000
s 4,000
= 2,000
Ha3-242 =& & 4,000,000 1,926,000 2,074,000
s 2,800,000
= 1,200,000
401 Al HIZ 201 8] 4,000,000 1,926,000 2,074,000
as 2,800,000
=) 1,200,000
01 A& HI 3,590,000 1,726,000 1,864,000
O¢=s-24 F2XNE A4 3,590,000
s 2,513,000
=) 1,077,000
02 Zeldl 400,000 200,000 200,000
Odzs-3d =Xk A& 400,000
s 280,000
< 120,000
03 Al S THHI 10,000 0 10,000
O¢s-24 FIXNE A4 10,000
s 7,000
< 3,000
PHSZ2-2FIC FXNE 24 4,429,000 575,000 3,854,000
s 300,000
< 4,129,000
401 Al HI K 201 I 4,429,000 575,000 3,854,000
s 300,000
< 4,129,000
01 A& HI 4,000,000 489,000 3,511,000
ORMESZ2-2FIC 2T A4 4,000,000
02 2teltl 429,000 86,000 343,000
OR4s=2-2%I1C 2N A4 429,000
s 300,000
< 129,000
Negez 3l 32,463,750 35,459,385 A 2,995,635
Aa-dd NEE ST IAM 3,179,525 300,000 2,879,525
401 AIEHI L 201 3,179,525 300,000 2,879,525
01 A&l 3,178,525 299,000 2,879,525
OlAa-&4 XNeEE SHEZIHIA 3,178,525
03 Al& £ Tt 1,000 1,000 0
OtiA-&d NLE SHZIIAM 1,000
Cet-BHd NYE SEFISAM 760,000 1,200,000 A 440,000




432 PEALR A==
M Heloln OFE TRY 7S
& XYE2 FH (=& J)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 760,000 1,200,000 A 440,000
01 Al Hl 728,000 1,030,000 302,000
OCtet-Bd NeE ST IAM 728,000
02 2feltl 30,000 170,000 A140,000
OUSE-EHE NEE SHEZIFIA 30,000
03 AlE 2 THHI 2,000 0 2,000
OCHt-Bd XNeE ST IAM 2,000
HE-SEIC NEE SZFI3A 4,000,000 800,000 3,200,000
401 Al HIZ 201 8] 4,000,000 800,000 3,200,000
01 A& HI 3,695,000 592,000 3,103,000
OUES-3HIC NYE SEZHIA 3,695,000
02 Zeltl 300,000 200,000 100,000
OUE-SEIC XY SHEZFSA 300,000
03 A& S THHI 5,000 8,000 A 3,000
OUES-3EIC NYE SEZHIA 5,000
AT OIXS8SA 24 1,000,000 1,000,000 0
401 AIEHI L 2 CHYI 1,000,000 1,000,000 0
01 A& HI 1,000,000 1,000,000 0
OXNgE OXN=aEX 24 1,000,000
ANEE2 ZHAMY 29 40,000 40,000 0
201 Let249] 30,000 30,000 0
01 At 22/l 27,000 27,000 0
OXNYE HEFN ML Rel S 27,000
02 2324l 3,000 3,000 0
Oe=2=2uWsE2s 2494 X2 3,000
203 YR =] 10,000 10,000 0
03 AIZ=AH S =AH| 10,000 10,000 0
OXNgZAE =& 10,000
Het-=01 XNEE SHEIHFISA 4,810,000 2,090,000 2,720,000
401 Al HI K 201 I 4,810,000 2,090,000 2,720,000
01 A& HI 4,810,000 2,083,000 2,727,000
Olfat-80 N&LE HEZZTIAM 4,810,000
-8 NLE SZHIA 1,800,000 6,000,000 A 4,200,000
401 A& HIZ 201 8] 1,800,000 6,000,000 A 4,200,000
01 A& HI 1,540,000 5,778,000 A 4,238,000
OxXF-348 NLE T3 M 1,540,000
02 Zeltl 258,000 220,000 38,000
OxZ-38 Ngx =SZHIA 258,000




4= pHALR SN E2D
M Helotld otME E2 2=
& XYE2 FH (&)
. - 4 14
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 AlE 2 THHI 2,000 2,000 0
OxXF-848 XL SHZTIM 2,000
ME-Q4 NLE SZEIA 450,000 500,000 A 50,000
401 A& HIZ 2018 450,000 500,000 A 50,000
01 A& HI 449,000 499,000 A 50,000
OUE-24 T HETIIAM 449,000
03 Al 2 THHI 1,000 1,000 0
OME-24 NSEE SHEZEHIA 1,000
& S22 SZTIAM 1,500,000 1,000,000 500,000
401 A& HIZ 201 I 1,500,000 1,000,000 500,000
01 A& HI 1,499,000 999,000 500,000
OfE =2 EZHIA 1,499,000
03 Al 2 0HHI 1,000 1,000 0
Ofd =22 SZFIA 1,000
SE-84 NEE I IA 1,500,000 500,000 1,000,000
401 Al HI K 201 I 1,500,000 500,000 1,000,000
01 A& HI 1,490,000 495,000 995,000
Oz2-848 Ngdx =SZHIA 1,490,000
03 A& =2 THHI 10,000 5,000 5,000
O=2-84 Ner SHEZIIA 10,000
Hst-50] NEE SHEZEAIA(2BR) 1,812,000 240,000 1,572,000
401 AIEHIZL 20 1,812,000 240,000 1,572,000
01 A& Bl 1,811,000 237,000 1,574,000
Olfs-S0l NgE SHEAIZA(RBTR) 1,811,000
03 A& S THHI 1,000 3,000 A2,000
O3-S0l NgE SHELEIA(ST) 1,000
Ae-5 8 XY SHEZHIA 2,700,000 700,000 2,000,000
401 Al HIZ 201 8] 2,700,000 700,000 2,000,000
01 A& HI 2,497,000 393,000 2,104,000
OXg-5 3 NEE SHEZIIA 2,497,000
02 Zeltl 200,000 300,000 A 100,000
OXNM-53 XLE SHZTTIAM 200,000
03 A& =2 THHI 3,000 7,000 A 4,000
OXg-5 3 NEE SHEZIFIA 3,000
SA-2=2 ALY SEZHEIA 2,000,000 500,000 1,500,000
401 AIEHI L 2CHYI 2,000,000 500,000 1,500,000
01 A& Hl 1,998,000 498,000 1,500,000
Oga-g= NeE SZHIA 1,998,000




42 pEALR A =20
M Helotld otME E2 2=
el NYE2 Fl (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 AlE 2 THHI 2,000 2,000 0
OZA-gz NLE HZHIAM 2,000
S 252 HESAM 500,000 200,000 300,000
401 A& HIZ 2018 500,000 200,000 300,000
01 A& HI 498,000 199,000 299,000
O 2E2 HESAM 498,000
03 Al 2 THHI 2,000 1,000 1,000
OF ZE=2 HESAM 2,000
SY-X& XNSEE SHEEFIA 2,700,000 1,500,000 1,200,000
401 A& HIZ 201 I 2,700,000 1,500,000 1,200,000
01 A& HI 2,695,000 1,500,000 1,195,000
OB -X& XL SHZHIA 2,695,000
03 Al 2 0HHI 5,000 0 5,000
OB Y-R& XL SHEIITIAM 5,000
NEE AZSZISZA 12,225 28,822 A 16,597
401 Al HI K 201 I 12,225 28,822 A 16,597
01 A& HI 12,225 28,822 A 16,597
OXNEE AtZSZ I XA 12,225
SE-OE ST SEEIA 200,000 0 200,000
401 A& HIZ 201 Y] 200,000 0 200,000
01 A& HI 198,560 0 198,560
OSE-4ttd XY SHZHIAM 198,560
03 Al 2 THHI 1,440 0 1,440
OSg-&d XL HETIIAM 1,440
BHEDNXZ AZE2 SZHIA 3,500,000 0 3,500,000
401 Al HI K 2018 3,500,000 0 3,500,000
01 A& HI 3,490,000 0 3,490,000
OtH8uxz HA252 SZFIA 3,490,000
03 A& =TI 10,000 0 10,000
OHHEuWIZ 22 SZIIZA 10,000
85832 gEE2Y A= 5,869,857 4,500,000 1,369,857
E2-012 XNYE SHEZZI3A 5,869,857 4,500,000 1,369,857
401 AIEHIZL 20 5,869,857 4,500,000 1,369,857
01 A& HI 5,490,157 3,920,000 1,570,157
O8=2-0142 XNYE LY IA 5,490,157
02 Zeltl 376,700 580,000 A 203,300
23-012 XNYE SHEZZFIA 376,700
03 A& =2 THHI 3,000 0 3,000




AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
| | | O2=2-01¢2 XNYLE #IHIA 3,000
AN UMl AGALdME B4 203,000 466,351 A 263,351
NSEAEAY 2435 3,000 3,000 0
AHAMAE LG R FA 3,000 3,000 0
201 Bt A | 3,000 3,000 0
01 AL 22l | 3,000 3,000 0
OHEY S5 & =FNH 3,000
TAHEEZ HUH| 200,000 46,000 154,000
SANHEEZTZ HHAIY 200,000 46,000 154,000
403 ItXISHA S K201 200,000 46,000 154,000
01 AIXISHMA2E X 200,000 46,000 154,000
OEAHEEZZ FHUIAIY 200,000
ME X 240,000 420,579 A 180,579
NEA B+0F 240,000 420,579 A 180,579
TZANES 0 TR 240,000 420,579 A 180,579
308 X SHAMSOIHA 240,000 420,579 A 180,579
02 &8+NE=2 240,000 420,579 A 180,579
Oz MEE 240,000
HESHAAL (=2 D) 61,094 58,917 2,177
Jl2& bl 61,094 58,917 2,177
JlE2&| 61,094 58,917 2,177
201 et A | 22,614 18,627 3,987
01 AFR2t2l Yl 22,614 18,627 3,987
OJl==+=gHtl 9,564
OJl=22 I 13,050
202 04t 38,480 39,690 A 1,210
01 2LHOHI 38,480 39,690 A1,210
OJI20 bl 38,480
HWeEgEs(=2u) 16,213,800 14,892,700 1,321,100
WEHAH XK= 16,213,800 14,892,700 1,321,100
HEHH K= 16,213,800 14,892,700 1,321,100
705 =2 &2 24E 16,213,800 14,892,700 1,321,100
03 Al - EXEHED I SUH =R =4 & 11,830,000 10,330,000 1,500,000
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